WIS FTUZX I+ APEIO0F SE-PROKRFP7vFKIT115cc / SE2-PRO K77 v J KIT125cc

BESEE

K77y 7 KIT N=I3U7yTKIT EX RV KIT RP7 7 KIT N=Y3 797 KT EX RV KIT
115¢cec 215-1413771 213-1413771 350-1413770 212-1418781 212-1418791 213-1418780 350-1413910 350-1413900
SE-PRO115cc/SE2-PRO 125¢c BU115 VU115 P115 BU125 BU125-T VU125 P125 P125 (2R)
s - o
.VU“JQ—EKQI\—‘y &E |@RI—KNO /N—V#H BOAflAE BkfEs| BU115 VU115 P115 BU125 | BU125-T | VU125 P125 |P125 (2R)
MEIFAPET100D I VY VR7ZEEAR A1 [313-1418700  SE-PRO YU 4 —Ay K ASSY (RF—IL/SLTHAR) ¥49500 ¥45000]  x1 X1 x1
ELTVET, 3131418800  SE-PRO Y U4 —Avy K ASSY (F%> /5L THAH) ¥93,500 ¥85.000 x1
A2 |303-1122770 SE/\v7 0Oy H—7—LSET ¥8,360  ¥7,600 oP oP X 1SET | X 1SET | X 1SET
B | |303-0600000 FEFy b& AT 21— SET ¥3,300 ¥3,000 X 1SET X 1SET X 1SET
B1 |303-1013711 ANy NPT v ANFECF Y b ¥880  ¥800 opP oP (x2) (x2) (x2)
B2 |303-1013701 ANy NPT X ARRY ) 2— ¥880 ¥800 X2 X2 (x2) (x2) (x2)
C1 [300-1122100 SPLNA{HLY ¥ T b ¥8,800 ¥8000 X1 X1
300-1413700 ULTRA-SE N1 H L+ T b ¥9,680 ¥8.800 oP OP x1 X1 X1
C2 |025-015-0240000 DENSO 1 YT I LT3 Y24 ¥2,860 ¥2.600 x1 X1 x 1 x 1
C3 |751-0500110 F79%vv7 70B ¥550  ¥500 X1 X1
751-0500310 TI30%y v T (Lyk/2Uar) ¥660  ¥600 oP oP X1 X1
C4 | 674-0400900 TIILF ¥440  ¥400 x 1 X1 X1 X 1
D | |311-1413700 Ay x4~ ASSY( ¢ 57) ¥29,700 ¥27,000 x1 X 1 X 1
D1 | 311-1413701 X% 4—COMP (¢ 57) ¥27,500 ¥25000| (X 1) (x1) (%X 1)
D2 | 771-0900900 FIVINY a—KIL b M10 X P1.25 ¥880 ¥800 (x2) (X2 (x2)
D3 | 771-0901800 FANXLTU— (ZIIS—) ¥2,420 ¥2200 (Xx1) (%X 1) (X 1)
.y D4 | 771-0500999 FIWNID—=>T Ty v— 10mm ¥110  ¥100| (X 4) (X 4) (X 4)
....... =~ ; AN E1 |351-1413330 ¢ 57SS EZ k> (ULTRA-SE115cc A) 3R (0.8-0.8-1.5) ¥8,800 ¥8,000 X1 X1 X1
E2 [351-1413910 ¢ 57 $EE X b > (ULTRA-SE125¢cc i) 3R (0.8-0.8-1.5) ¥17,380 ¥15,800 x1 x 1 x 1 x 1
351-1413900 ¢ 57 & E X b > (ULTRA-SE125cc Al) 2R (0.8-1.5) ¥17,380 ¥15.800 OoP OoP OoP oP X1
E3 |352-0006570 ¢ 57EXM>YU Y 3R (0.80.8-1.5) ¥2200 ¥2000| X 1SET x 1SET x 1SET X 1SET X 1SET X 1SET X 1SET X 1SET
E4 |353-0001440 EXREZ 14 x40 ¥550 ¥500 X1 X1 X1
353-2001440 EXr2E> 14X 40 (CIN 24 7) ¥2640  ¥2400 oP oP oP X1 X1 x 1 x 1 x 1
F | |960-1413300 JNy %> SET-A (115/125/145¢cc F) ¥1,650 ¥1.500| X 1SET X 1SET x 1SET X 1SET X 1SET
F1 | 961-1413300 ANy KHRFy b (¢ 57) ¥1,210  ¥1,100| (X 1) (X 1) X1 (X 1) (% 1) (% 1) x 1 x1
F2 | 950-1122011 =% T | WALE 27 ¥165 ¥150 (x1) (x1) (x1) (X 1) (%X 1)
F3 | 70-963-11010 EX#HZX% v b (H-10) ¥352  ¥320| (X 1) (X 1) (% 1) (x1) (x1)
F4 | 962-1413300 N—=ZINy F > ¥220 ¥200 (x1) (x1) x 1 (X 1) (X 1) (X 1) X1 X1
F5 | 354-0000140 EXREXTY YT 14mm ¥55 ¥s0| (%2 (X2) x2 (X2) (x2) (x2) x 2 x 2
G |309-1413200 O JZ2bA—=995>%72 47 b ASSY(48.96mm) ¥37,400 ¥34,000 x 1 X1 X1
H1 |966-1122000 RIS I5—ANIS=HAF Y b ¥913  ¥830 X1 X1 X1
H2 |966-1122002 IS I5—RART Y b ¥1,100  ¥1,000 X1 X1 x 1
.gayaa-_zguw’ \"_\y H3 |966-1122001 ;;??7’7"—55731\'—7i‘x’7"7 k ¥627 ¥570 X1 X1 X1
<3S arIN=y
[FAPET00DT YV BERALLTLET. 11 |300-1413770 ULTRA-SERNA H LY v 7 b ¥10,780 ¥9.800 oP oP oP oP oP
12 |353-3001440 DLCEX R E> 14 x40 ¥4,400 ¥4,000 oP oP OoP OoP OoP OP OP OP

YERD KIT AHDI—Y

LA LA LA LA

N1 M6 X 455 KJL b X 2 N9 OvHh—T7—LI+vTk (58) x 1 N17 M6 £F v b X 2 N25 ALFI—2HAK X1
N2 6mm <> hJ/8— x 2 N10 M6 X 10 / v 7KL b (8) X1 N18 M6 X 32 24y KKl b X 2 N26 M8 Fv b X1
N3 SUH—~y Rh/i— X1 N11 M6 X 10 FJL b x 1 N19 M6 X 16 FJb b X1 N27 729 aF—PYxvARZIUa— x 1
N4 SULE—AYyRAN=NyFx x 1 N12 ALZRFAT v b x 1 N20 6mm > —U> 5Ty v— x 1 N28 OU>%Y 55%x15 X1
N5 M8Fv b X4  N13 HLFI—> X1 N21 M6 X 16 FJb b X1 N29 hLFr—>F>>aF— COMP X1
N6 8mmF7 v v — X4 N4 /y7E10X 16 X6 N2 7>¥ar—PYvAbTL—h X1 N30 HLFr—>Fryar—IXFUry X1
N7 ALY %7 hRILT— X 1 N15 M6 X 110 XA 75> YHIL b X 1 N23 F>vaFr—FYvARAL X1

N8 AvH—T—LI¥7 b (R) X1 N16 M6 X 20 75> IR b x 2 N24 OU>J 11x20 X1

&S N—-vE &5 N—-U%H &5 N—-vU% &5 N-V#H

N40 M6 X 100 AJb b X1 N57 17mmH¥—2 Uy 7 X 1 N74 M4 X 12 ME X X2  N91 M6 X 45 KL b X 1
N41 M6 X 80 FJb b X6 N58 75yFtrH— X1 N75 9.4mmO U > % X2 N2 HUIT 75— X 1
N42 M6 X 40 FJb b X1 N59 JU9>a>F42Y X4  N76 FA4IWARL—F— X 1 N93 M6 X 16 FJL b X 2
N43 M6 X 35 FKJL b X1 N60 75 vFTL—h x 3 N77 2Ry N=F—LEXRy bFIL b X1 N4 SFxy hHARTL—F X1
N44 BT 529 r—2HIS— ASSY X1 N61 759 FTLyov—TL—b x 1 N78 Y7 MRS LRRNYIN=F—L x 1 N95 /v 7 E> 12 x 20mm X2
N45 # 4 LIV — X1 N62 17mm 275127y v — X 1 N79 ARy N=F—=LAFUYJ X1 N96 %MV 5> 74 —Z ASSY X 1
N46 FAIWRI—ZTY T x 1 N63 V5 vFTI5— X 1 N80 M6 X 22 FKJL b x 1 N97 OVU>% 43x25 X 1
N47 M14F v b x 1 N64 M5 X 18 KJL b X2 N8t YThRKRILRhyN=FL—F X1 N98 FAI—Ib x 1
N48 FAILZI—E> X 1 N65 K54 F¥vHh/N— X1 N82 Y7 hKSLEY X4 N99 ZF—#—21JLASSY X 1
N49 14mm FT v v — x 1 N66 M6 x 30 ME X x 2 N83 Y7 UE—2ZTYLY x 1 N100 M5 X 10 ¥ v v 7KL b x 1
NSO 754vU—K54TFY X1 N67 FA WKL TRSL TS v 7 b X1 N84 7 hZE> KL ASSY X1 N101 M6 X 16 ME X x 3
N51 H5— x 1 N68 AAIRLTRIATHY x 1 N85 2TV THT— x 1 N102 75 1HK1—IL X1
N52 95y FUT8—HLREY x 1 N69 71 ILFK Tk X1 Ng6 ¥vo7UE—22F7U>YJ x 1 N103 M12F+ v b x 1
N53 X7YL T X1 N70 F AR T4 F—0—%— X1 N87 /v 7E> 8 X 14mm X2  N104 £ 75— HIN— X 1
N54 M6 X 22 KJU b X4 N AANRTFHIE—O—5— X1 N88 #4JLKL HKI bk X1 N105 M6 X 50 KJL b X 1
NS5 95y FUT78=FL—F X1 N72 AWK THAS Y b X 1 N89 12mm > —U> 5Ty v— X1  N106 M6 X 35#JL b X 4
NS6 95y FRTULY X4  N73 FANRLTTL—h x 1 N90 M6 X 55 FJb b X 1

ARBLTOEWN=VEERNIC/ —IN—VEBFERALET, BERAT//N—VILE. AU, BERFOHEFELVEERIFREZHRLTTEWL,




